Product and division

of ratios

Concept Lecture -6
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The ratio between the number of passengers

travelling by | and Il class between the two
railway stations is 1 : 50, whereas the ratio of |
and Il class fares between the same stations is 3 :
1. If on a particular day, Rs 1325 was collected
from the passengers travelling between these
stations, then what was the amount collected

from the_ll class passgngers?
Aoft 1 T Aoft 2 A IET FA T JIRAY FT

Fqard 1:50 @, Safd Aoft 1 7 Aoft 2 &
frdr &1 eua 3:1 3 R R Ra
B & Fo 1325 T SHaeT @G ¥ ar Avh
2 & AT F sFoeT Y R Frast &2

a) Rs.1000 b) Rs.850

c) Rs.750 «#Rs. 1250
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In an express train, the number of passengers
travelling in AC sleeper class, first classes and sleeper
classareintheratiol : 2 : 3 and the fares to each of
these classes are in the ratio 5: 4 : 2. If the total
income from this train is Rs. 38000, then the income
from the AC sleeper class is:

frdY ¥@ImESt # AC TR A0, gy AR T
TlgT Aol F IHET FIA aret AT HT TE&AT FT
T FAW: 1:2:3 § AR 57 A & R
a:raammrszrz t] 3R 39 IS @
Fo 38000% N JHGA B @ A AC TR
Foft garT A I aTe AN AT FL?

a) Rs. 8000 b) Rs.12000

@Rs. 10000 d) Rs. 6000
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A person bought some rice and wheat for

Rs.380. The ratio of weight of rice and

wheat is 4: 3 and the price of equal amount
of rice and wheat is in the ratio 5: 6. The
rice was bought of worth

W@'ﬁ-ﬁ#gﬁfﬂﬁﬂ&ﬁtﬁg%ox
# @lfiel d9mada 3R figﬂ? dotet &1
HAITT 4:3 wmm%m
BﬁT & HAeAl 1 UG 5:6 T av
ﬁmﬁﬂ—aﬁaﬂ?{rmm?
a)380 b) 300 @200 d) 180




A bag contain 50 Rs, 20 Rs. and 5 Rs. notes
in the ratio 49,5060The total sum of money

L00 in the bag ifind the no of 50 Rs.
o notes in the bag?
[0 uF dT F 50 A, 20 WX W 5
20 T F T A AT FT AT 4:5:6 T
Fel AU T F 3T 3300 T
2%0Z A 50 T F At A gEAT AT B
\;ﬂj) b) 30 c) 35 d) 42




A man has Rs.235 in the form of Re

1,50 paisa and 25 paisa coins and their
atio is 11:15:20 respectively. Find the

/@) faII 50 paisa coinsin rupees?

|+ 7.5+ 5=23.5

i © F O 1 99, 50 39 3k
25 em F W A Rer ¢ 3k 3@
m y T FAW: 11:15:20 § A 50 Ry A
o) el AU AT I
75  b)140 300  d)150
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N N R
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6 A batswoman missed her century by four

runs in an innings, in which the scoring shots

D(Q in the form of sixes, fours, threes, twos and
singles were in the proportion1:3:2:7:

—_—

_1_0. How many ru_nsqc.:%:l s;;l:e scgri_;r%
Yg=6+12+ 6+ 4+ |0 ?%"awa'? RS S N
W,ﬂ"’fﬁﬁ?’@ﬁ?@ﬁl:B:Z:
7:10 F Fe[Ud H FHRINGT QA e
29X U I 1 aomen #% R s W F w9 A
Fol fhdel T JamT?
20 b) 16 c) 10 d) 12
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(Rs. 4536)is divided among 4 men,

5 women and 2 boys. The ratio of
share of a man, a woman and a

lo_gy is'_7: 3. What is the share of

a woman?

4536m4q-sq15n1%m3ﬁ
3ﬁ12 a5 i §iF v

7:4:3 & @ U AfgeT F BEA
# frast TIT 3 87

Rs.336 b) Rs.498
¢)Rs.166 d) Rs.256




The ratio of Eotal amourﬂdistributed in all

males and females as salary is 6: 5 while the

ratio of salary offeachymale)and female is 4: 3.
-

Find the ratioo

ﬁaﬁamnﬁmmﬁs%mﬁ?
mmaﬁtﬂ%ma:aa?rrﬂm
43 ¥ w0 3R Aot H FEw w
T AT IS

a)9:5 @9:10 7:5 d)7:9




men wWomen

o

A contractor employed|25 labourers Jon a job. He
was paid Rs.275 for the work. After retaining
20% of this sum, he distributed the remaining
amount amongst the labourers. If the number of
men_to women labourers was in the ratio 2 :
§ and their w wages in the ratio 5 : 4what wages
did a woman labourer get?

THF SFER A 25 HAoqy A FH FF w
M| 39 dheR I 37 HH & 275% A
ZO%TWEa’#wmwa:ama:aﬁg
:-mﬁmqg’rﬁraw |311Rm?,3’r#

g AfRFATAT FT I 2:3 %7 a AgAdE
m:ﬂ?rcn?rmr54% T HAfgdT &7

a) Rs. 10 Rs.8 c)Rs.12  d)Rs.15
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The total number of men, women and children working
in a f;ctory iThey earn Rs 1343 in a day. If the
(total wages) of men to that of women to that of
children is in the ratio of 35 : 26+ 18 and if the wages
of a man, a woman and gnh Ildare in the ratio of 7 :
13 6, then how much does a child earn in a day?

40 @rr oA g, AfeT 3R = offT & &
AT 1343 v B T AR $r g 3| Toul
Afgensit 3 At F & 7 Fa R 35:26: 18
¥ IeTaT A B 1 IR, 1:41%:41 1 s=3 f T
FT HIUT 7:13:6 B TAF T B (T H)

ReaeT & STod 2T 3
a)Rs.22.40 b)Rs.37.50 ¢ Rs.23.50\g/s 25.50
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A grocer mixes two verities of wheat and sells

s <
%ﬁ il the mixture at Rs 28 éer kg to earn a profit of
0 I 5%. If the cost price of the first variety is twice
CP x =16 that of the second and he has mixed them in the

2 ratio 2 : 3, then find the price per kg of the
Wes . o cheaper variety.
i 7 ﬁmmmwﬁgaﬁra
€YY WX& ’5')(8 fFear &1 Femar § 3k 25% et afa
I F AT Bsor & 28 § yfafdar #ir T
q gar B afy Iy f geeh frew &
Sy - T H{ed, g fFew @ o 7o ¢ 3R 3we
/4 2 gt 2:3 & IHqua A fAamm g ar aw
fhear & g 1 vfa fram. 77 wa =Y
a)16 b) 18 c) 14 d) 20
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Gl cat takes 7 steps in the time taken by dog
for 5 steszEBu@E of a dog are equal to
6 steps of cathhat is the ratio of speed of
cat to that of dog?
foda @87 & v FAOT 5 FEH IOMCT &
3q AT # UF fdedl 7 FEH o
¢l AfFaT & F9 F 5 FeHA e F 6
FeAl F L 8 ar Reet 3k Tl ol
X T AT TATHY
a) 24: 23 “b)42:25 (@7:6 d)25:42

C
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Three cats are roaming in a zoo in such a way that when
cat A takes 5 steps, B takes 6 steps and C takes 7 steps.
A ) C But the 6 steps of A are equal to the 7 steps of B and
8 steps of C. What is the ratio of their speeds:
ef& S g 1/ &= Rfeeat 4,83 ¢ e AW W F 5w wE
g7 W ¢ & 99 A5 Few 3o § @ Be e
Sorelt & 3R ¢ 7 Faw sort & AT 4 F 6 FEw,

S [ o i Ba;%maﬁtca:gmm% 3T Tolr
% 6 7 8 40:11:137 o Ib)40:44:47
c) 15:21:28 d) 252: 245: 240
2.8 Nexng  €A=T
X% o W
‘ ‘% vﬁg(ﬁfé’ . 77(%»(7 6 g b2
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A camel pursue an elephant and takes 5 leaps
for every 7 leaps of an elephant, but 5 leaps of
elephant are equal to 3 leaps of camel. What is
the ratio of speed of camel to that of elephant?
TF S UF gl F1 o #T @1 8 A
AT # grlt 7 FEHA 3o § 3o AT A
9% 5 $eH 3oidT g| AfFa greft & 5 FeH
FC & 3 FGAl F WX g a 3¢ 3 greh

n NoD
R -~ ®

T &I A HT AT qAT3T
2B a)3:7  b)42:25 ¢ 24:19 (d)25:21
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